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01. A super market having a stock clearance promotion for its two products A and B. There

are a total of 70 of there two products. The super market gives away: free shampoo
packets and dishwashing liquid packets to customers who buy product A or B.
Unfortunately the stocks are limited. If a customer purchases Product A, he will get one
shampoo packet less and 2 dishwashing liquid packets more than if he had purchased
product B. The difference between the total number of dishwashing liqujid packets and

shampoo packets is 20. The number of shampoo packets and dishwashi_ngi liquid packets .

received by a person who purchases product A is 6. Find out how many of each product
was available in the supermarket and how the free products were distributed.

02.  Inan archaeological wooden specimen, only 30% of the original radio carléc}n-12 was
present. If the radio active decay is proportioﬁal to the amount of the radio'actie
substance present and the half life period of carbon-12 is 5568 years. Find the age of the
wooden specimen.

03. (1) Find the dimensions of the rectangle that, for a given perimeter, will have the largest
area. ‘

(if) A rectangular box open at the top, is to have a volume 32n7°. What must be the
dimensions so that the total surface area is minimum, -
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